TSB28 Instruction Sheet

1) Align sign blade to desired position, height and direction.
2) Secure sign blade and TSB28 to post using 5/16-12 x 1-1/4
stainless steel #3 self drilling screw.
3) Install remaining 5/16-12 x 1-1/4 stainless steel #3 self drilling screw
into existing two holes in TSB28 and secure properly.
Note #2

Note #1 Note #2
Note #1

Note #2 Sign Blade

3"0/D Pole
31/2” O/D
f 3" 1/D ,
L Note #1
O 11/4”

1634 Latrobe-Derry Road
Loyalhanna, PA 15661
Phone: (724) 537-4711

www.specialliteproducts.com
customer_service@specialliteproducts.com

SL SPECIAL LITE

QUALITY OUTDOOR PRODUCTS SINCE 1967

TSB28 Instruction Sheet

1) Align sign blade to desired position, height and direction.

2)  Secure sign blade and TSB28 to post using 5/16-12 x 1-1/4
stainless steel #3 self drilling screw.

3) Install remaining 5/16-12 x 1-1/4 stainless steel #3 self drilling screw
into existing two holes in TSB28 and secure properly.

Note #1 Note #2

Note #1

Note #2 Sign Blade

3" 0/D Pole

31/2” O/D

L 3" I/D )

Note #1 Note #2

O 11/4”

1634 Latrobe-Derry Road
Loyalhanna, PA 15661
Phone: (724) 537-4711

www.specialliteproducts.com
customer_service@specialliteproducts.com

SL SPECIAL LITE

QUALITY OUTDOOR PRODUCTS SINCE 1967

G{ SPECIAL LITE

SL SPECIAL LITE

TSB28 Instruction Sheet

1) Align sign blade to desired position, height and direction.
2) Secure sign blade and TSB28 to post using 5/16-12 x 1-1/4
stainless steel #3 self drilling screw.
3) Install remaining 5/16-12 x 1-1/4 stainless steel #3 self drilling screw
into existing two holes in TSB28 and secure properly.
Note #2

Note #1 Note #2

Note #1

Note #2 Sign Blade

3" 0/D Pole

31/2” O/D

3"1/D )
1

Note #1 | Note #2

O 11/4”

1634 Latrobe-Derry Road
Loyalhanna, PA 15661
Phone: (724) 537-4711

www.specialliteproducts.com
customer_service@specialliteproducts.com

QUALITY OUTDOOR PRODUCTS SINCE 1967

TSB28 Instruction Sheet

1) Align sign blade to desired position, height and direction.
2) Secure sign blade and TSB28 to post using 5/16-12 x 1-1/4
stainless steel #3 self drilling screw.
3) Install remaining 5/16-12 x 1-1/4 stainless steel #3 self drilling screw
into existing two holes in TSB28 and secure properly.
Note #2

Note #1 Note #2

Note #1

Note #2 Sign Blade

3" 0/D Pole

3 1/2” O/D

| 3”1/D )

Note#t § | | Noes

O 11/4”

1634 Latrobe-Derry Road
Loyalhanna, PA 15661
Phone: (724) 537-4711

www.specialliteproducts.com
customer_service@specialliteproducts.com

QUALITY OUTDOOR PRODUCTS SINCE 1967



